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E
F&����2 20  �
�?@��
4�L&��	��
��
�F
�(A�����
	 ln (CMEK,L/CMEK,0) �
2���
� 
��
2
���2���
��������	 MEK 7
��� 
���	��K4� U 10 cm= 0.43 _ 4.42 m s

-1,        T

water = 29±2°C , T air = 30±2°C ��� Depth = 20 cm
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2.3 ����	��
���1����
8�34���� 10 cm ���K��'��� 
 (U 10 cm) �����
�
�&���'�(')�
���
�*��
������ (KOLa)

��
�
�&���'�(')�
���
�*�������� (KOLa) �
�
���
L8�7
���
��
�H
���	
��
f�34F�e�������
	 ln (CMEK,L/CMEK,0) �
2���
 �34��8	8
	E
F&����2�34 19 ��� 20 *8�� 
��

��
�H
���	��
f�N@8���&�'�
����	�� 
0��
	����� �
����
� (1.12) 7
�
��8��	F2��
 KOLa
��	 MEK 0��� 
��3������ 
���	�3���*����F'4�������K4���
���1������K��'��� 
�F'4����� (��8	8
	
E
F&����2 21)

0

5

10

15

20

0 1 2 3 4 5

U 10 cm(m s
-1
)

K
O
La
X
 1
06 

(m
3 s-1

)

pure water

wastewater

E
F&����2 21 �&�3�2��3�2��
 KOLa ��	 MEK 7
��� 
��3������ 
���	���  U 10  c m  ��
	M ��K4�   
T water = 29±1°C, T air = 30±2°C ��� Depth = 20 cm (��@��2
�'��	�� 
��3��34
� 
�
�\��?
: BOD = 50-98 mg L-1, COD = 2320-2960 mg L-1 ��� SS = 27-38 
mg L-1)

��K4��&�3�2��3�2 ��
 KOLa ��	�� 
��3��
2�� 
���	 (��8	8
	E
F&����2 21) F2��

0�H��	��
���1����4 
M (U10cm < 2.4 m s

-1) ��
 KOLa �
�	��	�� 
��3������ 
���	�
���3��
�340�����3�	
�
��
�*8���
������
	8
	���
��3�
��&�34���&�	�
2��
���1����34�F'4����������
� ��K4�	�
7
�
��
���1���0�H��	8
	���
�L�����0����'8��
�&no�&p��0��
sE
���	�����34� 
�
�\��?
 �
�	0���@3
��	�� 
��3������ 
���	 ���� 
��
20���@3�34��
���1������K��'��� 
�N	���� (U10cm > 2.4 m s

-1) ��	��
0����'8��
�&no�&p��2�'��@�'����
��	����	�� 
[�4	�&J�7�8�34�3�
��������	 MEK � 
0����'8�
�
��
�*�������	 MEK 7
�����	�� 
�N��
�
\L8�83�����
�L&8��� ���F2��
��
������
	��	��
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KOLa �����
	�� 
���	�3��
�N	���
0��� 
��3����
	H
8�7���K4�	�
7
�&�'�
@��	��1	�������0��� 

��3� *8�&�'�
@��	��1	�������� 
���
�38�
���
����K4���34��	*��������	 MEK 0��� 
��3��N��'�
���
��	�
	����� �3��
�	�
	H����8��
�&no�&p���34��'8����7
�����������K��'��� 
� 
0����
 KOLa 
0��� 
���	�3��
�N	���
0��� 
��3� ���
��8��	�34L8��3���8����	�
2�
��8��	�
��������	 VOC 
0��� 
2�'���(A�34���\��?
L���������
�3� (Bunyakan ����@�, 2001) �34F27�8�&�34����
���1������

�
2 2.58 m s-1 *8���
��
�F
�(A�����
	��
���1������K��'��� 
�
2��
 KOLa 0��� 
���	����� 
��3�
�
�
���('2
�8������
��22�H'	�����34�
�
�����L8�8������
��34 3.3 ������
� 3.4 � 
��
2
�� 
���	����� 
��3��
�� 
8
2

KOLa = 5.13 × 10
-7U10 cm + 1.06  × 10

-6        ;            U10 cm < 2.40 m s
-1

KOLa = 6.75 × 10
-6U10 cm _ 1.27  × 10

-5      ; 2.40 m s-1 ≤ U10 cm ≤ 4.42 m s
-1   (3.3)

KOLa = 3.48 × 10
-7U10 cm + 8.43  × 10

-7    ;             U10 cm < 2.40 m s
-1

KOLa = 3.38 × 10
-6U10 cm _ 6.80  × 10

-6        ; 2.40 m s-1 ≤ U10 cm ≤ 4.42 m s
-1 (3.4)

3. ����	��	��1	��������34�3�������
�
�&���'�(')�
���
�*�����
3.1 �
�?@��
��&�34���&�	��
����������	 MEK �
2���


7
��
��
8��
����������	 MEK ��K4��&�34���&�	&�'�
@��	��1	�������0�
�� 
��3��&J� 10 _ 40 mg L-1 (��8	8
	E
F&����2 22) F2��
��K4�&�'�
@��	��1	��������F'4�����
��
����������	 MEK �3�
��&�34���&�	�
2���
�����	 �
�	�3���K4�	�
7
�&�'�
@��	��1	
��������34�F'4��
�����7�L&�8��
�&no�&p���34��'8����2�'��@�'����
��	����	�� 
 �3��
�	&�'�
@
��	��1	��������34�F'4������
	�38�
���
����K4���34��	*������ MEK �N�2�'��@�'����
��	����	�� 
 
7�	� 
0���
���
�*�������	 MEK 7
��� 
��3��N�2���
�
\��'8����L8������ 
��
2�
��8��	�K4�M 
0����0��
�?@��83���
� ����N��
��8��	�K4�M ��8	L��0�E
����� 	
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)

SS 10 mg/l

SS 30 mg/l

SS 40 mg/l

E
F&����2 22 �
�?@��
��&�34���&�	��
���������
2���
 � 
��
2���2���
��������	
MEK 7
��� 
��3��34 U 10 cm= 2.81 m s

-1, T water = 29±2°C , T air = 30±2°C ���
Depth = 20 cm (��@��2
�'��	�� 
��3��34� 
�
�\��?
: BOD = 150-321 mg L-1,
COD = 360-2400 mg L-1 ��� SS = 10-40 mg L-1)

7
�����N���
����������	 MEK �34���
��
	M 8
	��8	0�E
F&����2�34 22 F2
��
��
��
�F
�(A�����
	��
����������	 MEK �
2���
�
�
���('2
�8������
� (1.11) ���
�
�
��F�e����
f��
��
�F
�(A�����
	 ln (CMEK,L/ CMEK, 0) �
2���
 8
	��8	0�E
F&����2�34 
23

-1.5

-1

-0.5

0

0 100 200 300 400

Time (min)

ln
 (
C

M
E
K
,L
/C

M
E
K
,0
) 0 mg/L

20 mg/L

30 mg/L

40 mg/L

E
F&����2 23 �
�?@��
4�L&��	��
��
�F
�(A�����
	 ln (CMEK,L/CMEK,0) �
2���
 � 
��
2
���2���
��������	 MEK 7
��� 
��3��34��
 SS ��
	M
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3.2 ����	&�'�
@��	��1	������������
�
�&���'�(')�
���
�*�����
��
�
�&���'�(')�
���
�*�������� (KOLa) �
�
���
L8�7
���
��
�H
���	��


��
��
�F
�(A�����
	 ln (CMEK,L/CMEK,0) �
2���
 (��8	8
	E
F&����2�34 23) *8�� 
��
��
�H
�
��	��
f�
�N@8���&�'�
����	�� 
0��
	����� �
����
� (1.12) 7
�
��8��	F2��
 KOLa ��	 
MEK 0��� 
��3��3���*����8�	��K4�&�'�
@��	��1	��������F'4����� (��8	8
	E
F&����2 24)

0

2

4

6

8

0 10 20 30 40 50

Suspended solid in wastewater (mg L
-1
)

K
O
La
 X
1
06 (m

3 s-1
)

E
F&����2�34 24 ��
 KOLa ��	 MEK 7
����2���
��������	 MEK 0��� 
��3��34 SS ��
	M

7
�E
F&����2�34 24 F2��
��
 KOLa ��	 MEK �
2&�'�
@��	��	��1	
��������3�
�?@���
��
�F
�(A�22�H'	�����34�
�
�����L8�8������
��34 3.5 *8��3��
 R2 ���

�
2 0.97

KOLa = 6.59 × 10
-6 _ (1.15  × 10-7) SS (3.5)

&�'�
@��	��1	��������34�F'4��N	�����3������
��������	 MEK 7
��� 
��3��34
�8�	 �
��8�	��	��
�
�&���'�(')�
���
�*���������
���K4�	�
7
��
����������8	0�
�����������
��8�	��	 KOLa L8�8
	���
��34 3.7

100
0,

0,
% ×

−
=

aK

aKaK
R

OL

OLOL (3.7)
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��K4� % R = �&��A�[1��A�
��8�	��	 KOLa ��K4�	�
7
���
��	��1	�������, %
KOLa, 0 = ��
�
�&���'�(')�
���
�*���������34��
��	��1	����������
�
2

0 mg L-1, m3 s-1

KOLa, 0 = ��
�
�&���'�(')�
���
�*���������34��
��	��1	�������08M m3 s-1

% �
��8�	��	 KOLa ��K4�	7
��
����������8	8
	E
F&����2 25 7
�E
F
&����28
	���
�F2��
 % R �
2 SS �3��
��
�F
�(A�H'	�����
����
��34 3.7 *8��3��
 R2 ���
�
2
0.98

% R = 1.7263SS + 1.158 (3.7)

0

20

40

60

80

0 10 20 30 40 50

Suspended solid in wastewater (mg L
-1
)

%
 R
e
d
u
ct
io
n
 i
n
 K

O
La

E
F&����2�34 25  �&��A�[1��A�
��8�	0� KOLa ��	 MEK 0��� 
��3��34&�'�
@ SS ���
�
2        0 _
40 mg L-1

4. ����	�
�������
�*8�7��'���3�A�����
�
�&���'�(')�
���
�*�����
4.1 �
�������
�*8�7��'���3�A�340H����['�7�

0���222 
2
8�� 
��3�7�'	�
���
	�3�3����4	��L��34��	������
���
�*�������	 
VOC 0��� 
��3�������K�7
�&n77
�8
	L8����
��
������
	����
���1�K� �
�������
�*8�7��'���3�A0�
�� 
��3� �
�	�3��
�������
� VOC *8�7��'���3�A��'8����7
�7��'���3�A0�����	�� 
�7�'>��'2*�*8�0H�
�
�&����2�'���3�A0�����	�� 
�&J�����	��	�
�A2�� 7�	� 
0��&�'�
@��	 VOC 0�����	�� 
�8
�	
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7
��
��8��	F2��
�
��&�34���&�	��
����������	 MEK �
2���
��	�� 
��3� 
���H�8��2����34�3�
���'��
�
\�&J�����M ��8	8
	E
F&����2�34 26 [�4	�
�
���
��
�H
�
��	��
����������	 MEK �
2���
��	�� 
��3����H�8��2���L8����
�
2 -0.0424 ��� -0.0398 *8�
�3��
 R2 ���
�
2 0.95 ��� 0.98 �
�� 
8
2 ���7
�����
	��	��
�H
������
	�� 
��3� �
2H�8��2���
���
�
2 0.0026 [�4	�1�K��
��
�
��
�L&��	 MEK �
���K4�	�
7
��
�������
�*8�     7��'���3�A���

�
2 3.8 mg L-1 day-1 [�4	�K���
�&J��
��&�34���&�	�34�����
���K4���3�2�
2&n77
��K4�M L����
7��&J�
��
������	����	�� 
 ��
���1������K��'��� 
��K�&�'�
@��	��1	��������34� 
�
�\��?




49

800

850

900

950

0 1000 2000 3000 4000

Time (min)

M
E
K
 C
o
n
ce
n
tr
a
tio
n
 (
m
g
 L

-1
)

Data

(a)

800

850

900

950

1000

0 1000 2000 3000 4000

Time (min)

M
E
K
 C
o
n
ce
n
tr
a
tio
n
 (
m
g
 L

-1
)

Data

(b)
E
F&����2 26  �
��&�34���&�	��
���������
2���
0�H�8�8��	�
�������
�*8�7��'���3�A�34

0H����['�7� (a) �� 
��3��34��
��
�{�
�HK��8���������4	�
8��
�8
� (autoclave)      
(b) �� 
��3� ��K4� Average = ��
�I�34���
����������	����N� ��� Data = ��
�����
����34���
08M
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7
��
��
�
��
�L&��	 MEK *8�7��'���3�A�
�
��� 
�
�
��
�
�&���'�(')�
�
��
�*�����*8�7��'���3�A (KOL) L8�*8��
�F�e���
��
��
�H
������
	 ln (CMEK/ CMEK, 0) �
2���


L8�8
	E
F&����2�34 27 [�4	�
�
���
��
��
�H
�L8����
�
2 2.802 × 10-6 min-1 8
	�
����
�
�&��
�'�(A�
���
�*�����*8�7��'���3�A (KOL) �3��
���
�
2��
�H
���	��
f�N@8���&�'�
����	�� 
��3�

0�&}'��@A �
����
� (1.7) F2��
 KOL ��	 MEK ���
�
2 4.67 × 10-11 m3 s-1 [�4	�3��
�����
���K4�
��3�2�
2 KOLa �34��'87
����	�
��&��K4�M �34L8����
���	�������
�3�

-0.01

-0.008

-0.006

-0.004

-0.002

0

0 500 1000 1500 2000 2500 3000 3500
Time (min)

ln
 (
C

M
E
K
/C

M
E
K
,0
)

E
F&����2 27 �
�?@��
4�L&��	��
��
�F
�(A�����
	 ln (CMEK/CMEK,0) �
2���
 � 
��
2
���2���
�������
�*8�7��'���3�A��	 MEK

4.2 �
�������
�*8�7��'���3�A�34L��0H����['�7�
����0���@3�
�������
�*8�7��'���3�A0�������34L��0H����['�7� (Anaerobe) F2

��
��
���������
�	�� 
��3� �
2�� 
��3��34��
��
�{�
�HK��8���������4	�
8��
�8
�L���
�
���
��
�
�
�F
�(A�
2���
L8� *8���
�����������7
��
����&���
@L8���
�	�34���8���
 8
	��8	0�E
F
&����2�34 37 ��8	��
�
�������
�*8�7��'���3�A�34L��0H����['�7���'8���������
�
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��&�34���&�	��
���������
2���
0�H�8�8��	�
�������
�*8�7��'���3�A�34

L��0H����['�7� (a) �� 
��3��34��
��
�{�
�HK��8���������4	�
8��
�8
� (autoclave)
(b) �� 
��3� ��K4� Average = ��
�I�34���
����������	����N� ��� Data = ��
�����
����34���
08M
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��K4�F'7
�@
����	�
�������
�*8�7��'���3�A�34�3�������
�
�&���'�(')�
���
�
*�����0���@3�
�������
�*8�7��'���3�A�340H����['�7�F2��
�3��
�N	���
��@3�
�������
�*8�7�
�'���3�A�34L��0H����['�7� (2
>>
�', 2534) ���F2��
�
�������
�*8�7��'���3�A�
�	 2 ��@3�3�������
 
KOL �����
���K4���3�2�
2&n77
��K4�M 8
	��8	0��
�
	�34 2 �
�	�3��
7��K4�	�
7
�0��� 
��3��340H�0�
�
�\��?
�
���&J��� 
��3�7
���
���K���34�3����	�
�A2��[�4	7��'���3�A�
�
��������
�L8�	�
����

����	�
�A2���34�
7
� MEK �
�'�H�� �N��3� *&��3� L��
� F��'�[��
L�8A �2N�����	[
�f��
�&J���� �3��
�	 MEK �340H�0��
��8��	�3��
����������'4����&���
@ 1000 ppm [�4	�&J�F'?���7��'
���3�A ����3���
2�
�	�
��7�'>��'2*���	7��'���3�A2
	�����0��� 
��3��34L������� MEK 8
	�
���
�
�7�'>��'2*���	7��'���3�A0��� 
��3��34�3 MEK ��N��
��7��&J��22�
8��K�� *8�     7��'���3�A�34���K�
��8����
�
��0H�����	�
�A2��7
� MEK L8��
��7��3����0��
�&�
2�
� (lag phase) 0�����
�
2
�E
����8����0��� 
��3��34�3 MEK �&J��	�A&����2 [�4	�������
�347��'���3�A0��� 
��3�7����
�N�
�E
���7�'>��'2*��22��3�N@ (log phase)�
�� �� 
��3��34���
�N���222 
2
87���
�������N�����	�� 

�
�(���H
�' *8���222 
2
8�� 
��3��34\��?
�3�����
��
���12L����'� 2 �
� (�
��'7
��'��
\
���A, 
2540)

7
��
�\��?
����	&n77
���
	M F/D, U10 cm, SS ����
�������
�*8�7��'���3�A
�
�
�����&����	�
��&�8
	���
���� KOLa ��	 MEK L8�8
	�
�
	�34 2

�
�
	�34 2 ��8	��
��
�F
�(A�����
	&n77
��34��	�������
�
�&���'�(')�
���
�*�������K4�&n77
�
�K4�M �	�34

��

�� ��������
��������� ���!�"���#�� MEK (m3 s-1)

�������	�����	�
	����������
����
��	����	�� 
 (1.6≤ F/D ≤5.6)

KOLa = 5.1 × 10
-7 (F/D) + 1.57 × 10-6

��
���1������K��'��� 

(0 ≤ U10 cm ≤ 4.42 m s

-1)
��K4� U10 cm < 2.40 m s

-1

KOLa = 5.13 × 10
-7U10 cm + 1.06  × 10

-6

���
2.40 m s-1 ≤ U10 cm ≤ 4.42 m s

-1

KOLa = 6.75 × 10
-6U10 cm _ 1.27  × 10

-5

&�'�
@��	��1	�������
(0 ≤ SS≤ 40 mg L-1)

KOLa = 6.59 × 10
-6 _ 1.15  × 10-7 SS
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�
�������
�*8�7��'���3�A KOL = 4.67 × 10
-11

7
��
�
	�34 2 7���1�L8���
&n77
��34��	������
��
�
��������	 MEK �
�
��

��3�	� 
8
2L8�8
	�3� ��
���1������K��'��� 
 > &�'�
@��	��1	������� > ��
������	����	�� 
 
>> �
�������
�*8�7��'���3�A *8�F2��
��K4���
���1������K��'��� 
�F'4������3�������
 KOLa ��	 
MEK�N	���� ��
	7
�&�'�
@��	��1	������������
������	����	�� 
[�4	��K4��3��
�N	�����3��� 

0����
KOLa ��	 MEK �8�	

5. �227 
��	 KOLa ��	 MEK
7
�����N���	 KOLa ��	 MEK �34L8�7
��
��8��	�
�
�����
	�227 
��	�
	

�@'�\
���AL8�*8�0H�*&����� Essential regression [�4	�
�
���('2
���
��
�F
�(A��	�
��&�
8 
��'��
���
	M �34�3�������
 KOLa ��	 MEK L8��227 
��	��8	8
	���
��34 3.8

( ) 6

 10 10

2

 10MEKOL 10)/(050.0SS 040.0 584.0.1311       a,
−×+−+= DFUUUK cmcmcm  (3.8)

��K4� KOLa,MEK =  �
�&���'�(')�
���
�*����������	MEK, m3 s-1   
        U 10 cm = ��
���1������K��'��� 
�&J����� 10 �[��'����, m s-1

F/D = �
��
���������
	�������	�����	�
	����������
������	����	�� 

SS = &�'�
@��	��1	�������, mg L-1

7
����
��34 3.8 ��8	0����1���	�
��&��34��	�����
	�3�
�� 
�
>�����
 KOLa ��	 
MEKL8���� ��
���1������K��'��� 
 (U 10 cm ) �
��
���������
	�������	�����	�
	����������
�
�����	����	�� 
 (F/D) ���&�'�
@��	��1	������� (SS) [�4	0��
�F'7
�@
��
����
�����	
�227 
��	�34L8�7�F'7
�@
7
� P value *8����������0��227 
��	�34�3�����
	�3�
�� 
�
>7�0�� 
P value �34�4 
���
 0.05 ��� P value  7��3��
�4 
�
�M ��K4������
���3�������
 KOLa ��	 MEK ���
	�3
�
�� 
�
>�
����� ���������34�3 P value  �N	���
 0.05 7��
8�'�	 [�4	7
��
��8��	�����34�3�������

KOLa ��	 MEK �
��34��8�K� ��
���1������K��'��� 
 *8��3��
 (P value = 1.45x10-8) *8��22
7 
��	�34L8��3��3��
 R2 ��� R2

adj ���
�
2 0.95 ��� 0.94 �
�� 
8
2 ��
 R
2 7�2����	��
���
�HK4��K�

��	�227 
��	 [�4	��
 R2 �3483����3��
���
0��� 1 ���� ��
 R2
adj �
��3��
0�����3�	�
2��
 R

2 ��8	��
���
������0��227 
��	�34L8�������	�����
	�3�
�� 
�
>�����
 KOLa ��	 MEK �
�	�'�� 7
�����N��22
7 
��	�34L8��
�
��� 
�
� 
�
���
 KOLa ��	 MEK 7
��
��8��	L8�8
	E
F&����2 29-31
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����
��8��	�
2��
�34� 
�
�8����227 
��	�
	�@'�\
���A��	
���2���
��������	 MEK 0��� 
��3��34 U 10 cm 08M ��K4�� 
��80��          F/D 
= 5.6 SS =30 mg L-1 ��@��2
�'��	�� 
��3��34� 
�
�\��?
:                    BOD = 
50-98 mg L-1, COD = 2320-2960 mg L-1
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E
F&����2 30 ��
 KOLa 7
����
��8��	�
2��
�34� 
�
�8����227 
��	�
	�@'�\
���A��	
���2���
��������	 MEK 0��� 
��3��34 SS 08M ��K4�� 
��80�� F/D = 5.6   U 

10 cm = 2.81 m s 
-1 ��@��2
�'��	�� 
��3��34� 
�
�\��?
: BOD = 50-98 mg L-1, 

COD = 2320-2960 mg L-1
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E
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 KOLa 7
����
��8��	�
2��
�34� 
�
�8����227 
��	�
	�@'�\
���A��	
���2���
��������	 MEK 0��� 
��3��34 F/D 08M ��K4�� 
��80��                SS 
=30 mg L-1 U 10 cm = 2.81 m s 

-1 ��@��2
�'��	�� 
��3��34� 
�
�\��?
:      BOD = 
50-98 mg L-1, COD = 2320-2960 mg L-1

7
��
��&�3�2��3�2��
 KOLa ��	 MEK 8����227 
��	�
	�@'�\
���A8
	E
F
&����2 29-31�34L8��
2���
��8��	F2��
�3��
���8����	�
2���
��8��	�34L8�� 
�
�\��?

��34���
2&n77
���
	M ��8	��
�227 
��	�
	�@'�\
���A�34F
��
�����3��
��N����	 ����
�
��0H�
� 
�
��
��������	 MEK 7
��� 
��3�L8�

6. �
�F
��
�227 
��	��	�� 
��3�� 
��
2� 
�
��
��������	 VOC �K4�M
7
����
�\��?
F2��
��
���1����&J�&n77
���
��34��	��0���3�
��������	 VOC 

7
�����	�� 
 �
�F
��
�227 
��	�FK4��
�� 
�
��
��������	 VOC 08M 7
��� 
��3�7�	0����
�
� 
�
>�
2��
���1����&J���
� �227 
��	7��N�F
��
����*8��
\
���?s3��	fq�A� [�4	���	��
2
��
��
�F
�(A�����
	�
�&���'�(')fq�A���e� (kGa) ����
�&���'�(')fq�A���	���� (kLa) �
2
��
���1���

6.1 �
�&���'�(')fq�A���e�� 
��
2�
��������	 VOC 7
��� 
��3�, kGa, VOC
�
�&���'�(')fq�A���e��
�
���
L8�7
��
��������	 VOC �34�3��
��
�
��0�

�
����
��� 
�N	 0��34�3�� 
�
��
��
 kGa 7
��
��������	���
���7
��� 
��3�*8�0H����
� 
(1.16) ���� 
�
�&�
2��� kGa ��	���
���� 
��
20H��
2 VOC 08M *8�0H����
� 1.26 ���L&
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1. �
�?@��
��&�34���&�	��
����������	���
����
2���
�34��
���1����
8�34����     10 
cm ���K��'��� 
   (U 10 cm) ��
	M

7
�E
F&����2 32 ��K4��&�34���&�	��8
2��
���1���0�H��	 0 _ 3.43 m s-1 F2
��
��
����������	���
����8�	��K4����
 �����
���1������K��'��� 
�F'4����� �
�	�3���K4�	7
�
��
���1����34�N	����� 
0����'8��
�&no�&p��2�'��@�'����
��	����	�� 
 ��	��0����
���
��	H
��
fq�A���e��8�	 � 
0����'8�
���
�*�������
�H
��fq�A���e���'8L8���1����� �
��
�
��������	���

���7�	�N	����
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E
F&����2 32 �
�?@��
��&�34���&�	��
���������
2���
 � 
��
2���2���
��������	 ��
�
���0��� 
��3��34��
���1�����
	M ��K4� U 10 cm= 0 _ 3.43 m s

-1,                   T 

water = 29±2°C, T air = 30±2°C Depth = 20 cm ��@��2
�'��	�� 
��3��34� 
�
�
\��?
: BOD = 50-98 mg L-1, COD = 2320-2960 mg L-1 ��� SS = 27-38 mg L-1

7
�����N���
����������	���
����34���
��
	M �34��8	0�E
F&����2�34 32 
F2��
��
��
�F
�(A�����
	��
����������	���
����
2���
�
�
���('2
�8������
� (1.11)
����
�
��F�e����
f��
��
�F
�(A�����
	 ln (CMeOH,L/ CMeOH, 0) �
2���
 8
	��8	0�E
F
&����2�34 33
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E
F&����2 33 �
�?@��
4�L&��	��
��
�F
�(A�����
	 ln (CMeOH,L/CMeOH,0) �
2���
� 
��
2
���2���
��������	���
���7
��� 
��3���K4� U 10 cm= 0.43 _ 4.42 m s

-1,           

T water = 29±2°C , T air = 30±2°C Depth = 20 cm ��@��2
�'��	�� 
��3��34� 
�
�
\��?
: BOD = 50-98 mg L-1, COD = 2320-2960 mg L-1 ��� SS = 27-38 mg L-1

2. ����	��
���1����
8�34���� 10 cm ���K��'��� 
 (U 10 cm) �����
�
�&���'�(')�
���
�*��
������ (KOLa) ��	���
���

��
�
�&���'�(A�
���
�*����������	���
��� (KOLa, MeOH) �
�
���
L8�7
�
��
��
�H
���	��
f�34F�e�������
	 ln (CMeOH,L/CMeOH,0) �
2���
 �34��8	8
	E
F&����2�34 33 
*8�� 
��
��
�H
���	��
f�N@8���&�'�
����	�� 
��3�0��
	����� �
����
� (1.12) 7
�
�
�8��	F2��
 KOLa, MeOH 0��� 
��3��3���*����F'4�������K4���
���1������K��'��� 
�F'4����� (��8	8
	
E
F&����2 34)
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E
F&����2 34 ��
 KOLa ��	���
���7
��� 
��3����  U 10  c m  ��
	M ��K4� T water = 29±1°C,              
T air = 30±2°C Depth = 20 cm ��@��2
�'��	�� 
��3��34� 
�
�\��?
: BOD = 50-
98 mg L-1, COD = 2320-2960 mg L-1 ��� SS = 27-38 mg L-1

7
�E
F&����2 34 ��K4���
2��
��
�F
�(A�����
	 KOLa ��	���
����
2 U10 

cm �
�
���
��
�
�&���'�(')fq�A���e���	���
��� (kGa, MeOH) *8�0H����
� (1.16) ��
��
�F
�(A
�����
	 kGa, MeOH �
2��
���1������K��'��� 
 (U10 cm) 0�H��	�34\��?
��8	8
	E
F&����2�34 35
����
�
���
��
�
�&���'�(')fq�A���e���	 VOC 08M (kGa, VOC) L8�7
�    kGa, MeOH *8�0H����
� 
(1.26) 7
��
��8��	F2��
��
 kGa, MeOH �&��
�*8���	�
2��
���1��� ��K4�	7
���
���1����34�F'4�
����� 
0����
���
��	H
��fq�A���e��34��N����K��'��� 
�8�	��	��0���
���
�*�������	    ��
�
����F'4������
���
���1������8H��	��
���1����34\��?
 [�4	0������8����	�
2��@3�
������
��	���
���7
��� 
2�'���(')�34���\��?
�������
�3� (7�
> ����@�, 2544) ���7
���
��
�F
�(A
�����
	       kGa, MeOH �
2��
���1����
�
���('2
�L8�8������
��H'	�����
����
��34 (3.24) *8�
�3��
 R2 = 0.94 ����
�
��&�
2������
��34L8�0��0H��
2 VOC �
��K4�M *8�0H���
��
�F
�(A
�����
	 kGa �
2��2
�'�IF
��
���	�
��K� ��
�
�&���'�(')�
��F����	�
� (DVOC) 7�L8����
�
�
�&���'�(')fq�A���e���	 VOC 08M 8
	��8	�
����
��34 (3.25)

4

 10

3
1059.11073.1,

−− ×+×= cmMeOHG Uak (3.24)

[ ] 







×+×=

−

−−−

airMeOH

airVOC

cmVOCG
D

D
Uak

4

 10

3
1059.11073.1, (3.25)

��K4� 0 ≤ U 10 cm ≤ 4.42 m s
-1
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E
F&����2 35  ��
 kGa ��	���
���0��� 
��3��34��
���1�����
	M T wastewater = 29±1°C. Depth = 
20 cm  ��@��2
�'��	�� 
��3��34� 
�
�\��?
: BOD = 50-98 mg L-1, COD = 
2320-2960 mg L-1 ��� SS = 27-38 mg L-1

6.2 �
�&���'�(')fq�A���	����� 
��
2�
��������	 VOC 7
��� 
��3�, kLa, VOC
�
�&���'�(')fq�A���	�����
�
���
L8�7
��
��������	 VOC �34�3��
�

�
�
��0��
����
��� 
�4 
 0��34�3�� 
�
��
��
 kLa 7
��
��������	*��N�3�0��� 
��3��
����
� 
(1.15) ���� 
�
�&�
2��� kLa ��	*��N�3�� 
��
20H��
2 VOC 08M *8�0H����
� 1.25

1. �
�?@��
��&�34���&�	��
����������	*��N�3��
2���
�34��
���1����
8�34����    10 
cm ���K��'��� 
   (U 10 cm) ��
	M

7
�E
F&����2 36 ��K4��&�34���&�	��8
2��
���1���0�H��	 0 _ 3.43 m s-1 F2
��
��
����������	*��N�3��8�	��K4����
 �����
���1������K��'��� 
�F'4����� �
�	�3���K4�	7
�
��
���1����34�N	����� 
0����'8��
�&no�&p��2�'��@�'����
��	����	�� 
 ��	��0����
���
��	H
��
fq�A���	�����8�	 � 
0����'8�
���
�*�������
�fq�A���	������'8L8���1����� �
��
�
������
��	*��N�3�7�	�N	���� ���7
�E
F8
	���
�F2��
�
��8�	��	��
����������	*��N�3���1����
��@3
��	���
����
�
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E
F&����2 36 �
�?@��
��&�34���&�	��
���������
2���
 � 
��
2���2���
��������	     
*��N�3�0��� 
��3��34��
���1�����
	M ��K4� U 10 cm= 0 _ 3.43 m s

-1,                      T 

wastewater = 29±2°C , T air = 30±2°C Depth = 20 cm ��@��2
�'��	�� 
��3��34� 

�
�\��?
: BOD = 50-98 mg L-1, COD = 2320-2960 mg L-1 ��� SS = 27-38 
mg L-1

7
�����N���
����������	*��N�3��34���
��
	M �34��8	0�E
F&����2�34 36 F2
��
��
��
�F
�(A�����
	��
����������	*��N�3��
2���
�
�
���('2
�8������
� (1.11) ���
�
�
��F�e����
f��
��
�F
�(A�����
	 ln (CToluene,L/ CToluene, 0) �
2���
 8
	��8	0�E
F&����2
�34 37
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E
F&����2 37 �
�?@��
4�L&��	��
��
�F
�(A�����
	 ln (CToluene,L/ CToluene, 0) �
2���
� 
��
2
���2���
��������	*��N�3�7
��� 
��3���K4� U 10 cm= 0.43 _ 4.42 m s

-1,              

T wastewater r = 29±2°C , T air = 30±2°C  Depth = 20 cm ��@��2
�'��	�� 
��3��34� 

�
�\��?
: BOD = 50-98 mg L-1, COD = 2320-2960 mg L-1 ��� SS = 27-38 mg 
L-1

2. ����	��
���1����
8�34���� 10 cm ���K��'��� 
 (U 10 cm) �����
�
�&���'�(')�
���
�*��
��������	*��N�3� (KOLa,Toluene)

��
�
�&���'�(A�
���
�*����������	*��N�3� (KOLa,Toluene) �
�
���
L8�7
�
��
��
�H
���	��
f�34F�e�������
	 ln (CToluene,L/ CToluene, 0) �
2���
 ��8	8
	E
F&����2�34 37
*8�� 
��
��
�H
���	��
f�N@8���&�'�
����	�� 
��3�0��
	����� �
����
� (1.12) 7
�
�
�8��	F2��
 KOLa ��	   *��N�3�0��� 
��3��3���*����F'4�������K4���
���1������K��'��� 
�F'4����� 
(��8	8
	E
F&����2 38)
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E
F&����2 38 ��
 KOLa ��	*��N�3�7
��� 
��3����  U 10  c m  ��
	M ��K4� T wastewater = 29±1°C,                  
T air = 30±2°C Depth = 20 cm ��@��2
�'��	�� 
��3��34� 
�
�\��?
: BOD = 
50-98 mg L-1, COD = 2320-2960 mg L-1 ��� SS = 27-38 mg L-1

7
�E
F&����2 38 ��K4���
2��
��
�F
�(A�����
	 KOLa ��	���
����
2 U10 

cm �
�
���
��
�
�&���'�(')fq�A���	������	*��N�3� (kLa,Toluene) *8�0H����
� (1.15) ��
�
�
�F
�(A�����
	 kLa,Toluene �
2��
���1������K��'��� 
 (U10 cm) 0�H��	�34\��?
��8	8
	E
F&����2
�34 39 ����
�
���
��
�
�&���'�(')fq�A���	������	 VOC 08M (kLa, VOC) L8�7
�    kLa,Toluene *8�
0H����
� (1.25) 7
�E
F&����2�34 42 ��8	0����1���
 ��
��
�F
�(A�����
	 kLa,Toluene �
2 U10 cm

�
�
���2�	���L8��&J���	H��	 �K��34H��	��
���1����4 
                      (U 10 cm ≤  2.40 m s
-1) F2��
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 kLa,Toluene L���&�34���&�	�
2��
���1���*8��3��
�I�34����
�
2 3.35 × 10
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��
��
�F
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�(A�����
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2��
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�&���'�(')�
��F����	�
� (DVOC) 7�L8����
�
�
�&���'�(')fq�A���	������	 VOC 08M 8
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�7���1�L8���
�
��������	
*��N�3�0��� 
��3�7
�	
��'7
��3��37�8�&�34����
�H
��34��
���1������
�
2 2.40 m s-1 ���
��8��	�34
L8��3�0����0�����3�	�
2�
��8��	�
��������	*��N�3�7
��� 
2�'���(A�34���\��?
L���������
�3� (7
�
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�
2 2.58 m s-1 �
�	�3���K4�	7
���
�
��
��
��
��������	*��N�3�7
��� 
��3���N�0�H
��fq�A�0��
sE
���	���� �
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6.3 ���7��2��
��N����	��	�227 
��	 kGa, kLa ��3�2�
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